BK S:t Erik
Plattliret 2014-02-22

Partavling, 20 bord, 40 par. Antal brickor: 57. Medel: 1083.0.

Plac Par Poang % Namn MID Klubb
1 1 1325 61.17 Bengt-Erik Efraimsson - Anna Zack Efraimsson 127 4049 BK S:t Erik
2 9 1291 59.60 Gunnar Andersson - Fredrik Nystrom 18507 18356 BK ALERT - BK S:t Erik
3 38 1275 58.86 Mart Altmé&e - Mikael Lindblom 5914 5094 BK S:tErik
4 26 1261  58.22 Ola Rimstedt - Adam Stokka 88183 30515 Harplinge BK - BK Bjdrken
5 10 1236 57.06 Magnus Gauffin - Christer Arenborg 10676 12021 BK S:tErik
6 15 1214 56.05 Bjérn Wenneberg - Géran Andersson 1912 1857 BKLyx - BK ALERT
7 17 1198 55.31 Thomas Magnusson - Peter Bertheau 3693 16757 Nasby BS - Uppsalabridgen
8 16 1193 55.08 Peter Tornblom - Patric Holmberg 2265 17031 BK S:tErik
9 31 1187 54.80 Eva Wetterhall - Karl Persson 2815 2872 BK S:t Erik
10 35 1186 54.76 Tore Stormo - Michael Lemborn 78250 1215 Arla BK - Karlstads BK
11 13 1179  54.43 Johan Upmark - Johan Nilsson 24498 13918 BK S:t Erik
12 34 1174  54.20 Krister Ahlesved - Olle Wademark 13995 14800 Uppsalabridgen - Nasby BS
13 14 1173  54.16 Simon Bech - Géran Hammarstrém 87173 11426 BK S:tErik
14 36 1160 53.55 Peter Lundstedt - Christer Glimsjo 5004 690 Hovmantorps BK
15 8 1147 52.95 Jesper Rundin - Roland Gyllenhammar 80778 252 Sundsvallsbridgen - Mora BK
16 22 1145 52.86 Rolf Olsson - Lars Sammils 8625 1125 BK Tva Ess - Hasselby BK
17 20 1133  52.31 Lars Andersson - Kenneth Borin 5351 2076 BK S:tErik
18 27 1124  51.89 Max Odlund - Bim Odlund 9267 9266 BK S:t Erik
19 32 1118 51.62 Kathrine Bertheau - Jessica Larsson 81089 17400 Filbyter Bridge
20 24 1109 51.20 Mikael Rimstedt - Marion Michielsen 88184 53103 Harplinge BK
21 4 1106  51.06 Lars Malm - Henrik Ludwigs 90738 10740 BK S:t Erik
22 5 1105 51.02 Hans Kvick - Bjorn Alenfalk 2878 2828 Uppsalabridgen
23 29 1079 49.82 Ola Weinberg - Gunnar Hallberg 94278 N436 BK S:t Erik - England
24 21 1072  49.49 Linnea Edlund - Niklas Johansson 34773 24842 Uppsalabridgen
25 33 1041  48.06 Peder Skaj - Daniel Gullberg 83430 37167 BK S:tErik
25 37 1041 48.06 Thomas Wrang - Jan Lagerman 91015 7856 BK S:t Erik - Nasby BS
27 25 1019 47.05 Suzanne Lemborn - Niclas Johansson 14984 14128 Karlstads BK
28 28 1017  46.95 Lars Lovius - Mats Hargell 17047 5458 BK S:tErik
29 23 993 45.84  Sten-Ake Ahlgren - Géran Medén-Britth 10020 5107 Modlnlycke BS - PBK Vega
30 39 991 45.75  UIf Lindeldw - Goran Lindén 30144 30145 BK S:tErik
31 18 990 45.71  Sven-Owe Andersson - Tommy Eneqvist 8954 2243 BK S:tErik - Tyreso BK
32 30 984 45.43  Erika Rodin - Kristin Nedlich 93303 85109 BK S:tErik
33 40 947 43.72  Per Soderberg - Henning Tingvall 18380 10744 BK S:tErik
34 3 928 42.84  Rolf Glyssner - Ole Marius Myrvold 12502 47699 Ruterklubben i Umead
35 12 904 41.74  Peter Ahlstrom - Géran Sundeman 78676 81047 LM Ericssons BK - BK S:t Erik
36 2 888 41.00 Per Carlson - Géran Hermanson 37799 37800 BK S:tErik
37 6 885 40.86  Jan-Olof Hegethorn - Peter Flodqvist 12033 14778 BK S:tErik
38 7 882 40.72  Sidney Hage - Sten Svartling 51646 78713 BKS:itErik
39 11 833 38.46 Boérje Brag - Mia Akerblom 19633 27507 Partille BK - Atrans BK
40 19 787 36.33  Ulla-Britt Olsson - Bjorn Runnqvist 32894 51279 BK S:tErik
1 4E84 2 41086 3 aE2
Nord v K53 Ost v D53 Syd v EKD1094
Ingen + 8543 NS + 1094 ov ¢ 753
2975 *K654 #K3
4 K5 & Kn932 4 KDKn932 #E754 4 KKn108 4 D96
v76 v D984 vKn7 v 98 vKn3 v 87
¢+ KD10762 ¢ EKn ¢+E3 + KDKn762 ¢ EDKn82 ¢ K9
*K64 #Kn82 #DKn7 *E *62 #E109754
4 D1076 a- 47543
v EKn102 v EK10642 v 652
+9 ¢85 + 1064
#ED103 #109832 #DKn8
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
16 25 3¢DV-2 ¢3 300 370 10|17 24 64 O-1 v3 50 36.0 20(22 19 44 0-2 v7 200 38.0 0.0
33 8 3¢DV-2 &5 300 370 10|22 19 64 V-1 v3 50 36.0 20|15 26 2v N+1 + K 140 320 6.0
10 31 3¢ V-3 v2 150 340 40|33 8 64 V-1 v3 50 36.0 20(17 24 2v N+1 + K 140 320 6.0
15 26 3¢ V-2 v2 100 310 7.0 3 38 44 V+1 v4 -450 17.0 21.0|30 11 2v N+1 +K 140 320 6.0
18 23 3¢ V-2 s A 100 31,0 7.0 4 37 44 V+1 v2 -450 17.0 21.0|39 2 2v N+1 + K 140 320 6.0
13 28 2¢ V-1 &5 50 26.0 120 6 35 44 O+1 vA -450 17.0 21.0|40 1 2v N+1 + K 140 320 6.0
27 14 2¢ O-1 vK 50 26.0 12.0|12 29 44 V+1 vQ -450 17.0 21.0|10 31 2v N= +K 110 25.0 13.0
30 11 2¢ V-1 &5 50 26.0 12.0|13 28 44 V+1 v3 -450 17.0 21.0|12 29 2v N= +K 110 25.0 13.0
22 19 3v S-1 +K -50 20.0 18.0(15 26 44 V+1 v3 -450 17.0 21.0|18 23 4¢ V-1 vA 100 21.0 17.0
34 7 INS-1 v2 -50 20.0 18.0|16 25 44 V +1 v3 -450 17.0 21.0|36 5 340-1 v2 100 21.0 17.0
39 2 INN-1 v4 -50 200 18.0(18 23 44 O+1 +¥3 -450 17.0 21.0|16 25 3v N-1 +K -50 16.0 220
36 5 2¢ V= &5 -90 15.0 23.0(20 21 44 V+1 v3 -450 17.0 21.0|27 14 3NN-1 T -50 16.0 22.0
40 1 2¢ V= &5 -90 150 23.0(27 14 44 O+1 vQ -450 17.0 21.0|34 7 3vN-1 v2 -50 16.0 22.0
3 38 2¢v N-2 ¢A -100 8.0 30.0{30 11 54 V= v3 -450 17.0 21.0| 4 37 3vyDN-1 +¢K -100 10.0 28.0
4 37 2vS-2 +K -100 8.0 30.0|32 9 44 V+1 v3 -450 17.0 21.0|20 21 4¢vyDN-1 +¢K -100 10.0 28.0
6 35 3vS-2 +K -100 8.0 30.0(34 7 44 V+1 v2 -450 17.0 21.0|33 8 3vyDN-1 +¢K -100 10.0 28.0
20 21 3#S-2 +K -100 8.0 30.0(36 5 44 V+1 v3 -450 17.0 21.0| 3 38 3¢ V= vK -110 4.0 34.0
32 9 44S-2 +K -100 8.0 30.0[39 2 54V= vQ -450 17.0 21.0| 6 35 3¢ V= vA -110 4.0 34.0
12 29 2NO+1 a7 -150 2.0 36.0[40 1 44 V+1 v3 -450 17.0 21.0|13 28 3¢ V= vA -110 4.0 34.0
17 24 54 S-5 2 -250 0.0 38.0|10 31 44 V+3 *T -510 0.0 38.0(32 9 24 V+1 vA -140 0.0 38.0
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4 « E1032 5 & K2 6 104
Vast v94 Nord vE10 Ost v 10865
Alla ¢+ E104 NS + K1076 ov + 10543
#KKn82 #E9865 &E52
« DKNn97 & K864 «D1084 4E763 492 & K8653
vK1075 ¢E32 vKD542 v9 vE942 v K3
¢+ Kn 4 K8653 4943 + EKn8 + Kn86 +D72
D763 &9 &Kn #KD732 #DKn108 #963
45 4« Kn95 « EDKn7
v DKn86 vKn8763 v DKn7
¢+ D972 ¢ D52 + EK9
#E1054 £104 K74
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 39 34DV-3 ¥9 800 370 10(19 24 INDN= &2 180 380 00[14 29 3NS= *0Q 400 36.0 20
17 26 44DV-3 ¢9 800 370 10| 1 3 3#0-3 v5 150 36.0 20|21 22 3NS= *Q 400 36.0 20
18 25 24 O-2 a5 200 340 40| 4 39 3NO-2 &T 100 31.0 70|31 12 3NS= L JO) 400 36.0 20
1 3 INS+2 v5 150 310 7.0(16 27 44 O-2 &T 100 31.0 70| 1 3 INS+1 L Jo) 120 24.0 14.0
23 20 INS+2 *6 150 3.0 7.0(33 10 2#0-2 v3 100 310 70| 5 38 INS+1 &Q 120 24.0 14.0
28 15 INS+1 v7 120 28.0 10037 6 3#0-2 +3 100 31.0 70|11 32 2NS= *0Q 120 240 14.0
16 27 3&# N= 8 110 26.0 12.0(11 32 3NO-1 &T 50 19.0 19.0(13 30 2NS= *Q 120 24.0 14.0
19 24 INN= +3 90 220 16.0(13 30 34 V-1 ¢7 50 19.0 19.0(16 27 INS+1 49 120 24.0 14.0
21 22 INS= ¢J 90 220 16.0(18 25 44 V-1 *7 50 19.0 19.0(23 20 INS+1 *0Q 120 240 14.0
35 8 INS= v5 90 220 16.0(21 22 240-1 v3 50 19.0 19.0(28 15 2NS= *0Q 120 24.0 14.0
5 38 2¢ N-1 *9 -100 11.0 27.0|23 20 44 O-1 &T 50 19.0 19.0(37 6 2NS= *Q 120 24.0 14.0
7 36 INN-1 +5 -100 11.0 27.0(28 15 44 O-1 &T 50 19.0 19.0(40 2 INS+1 L Jo) 120 240 14.0
11 32 INS-1 «Q -100 11.0 27.0|31 12 24 O-1 ¢+5 50 19.0 19.0| 7 36 2v N= &3 110 13.0 25.0
14 29 INN-1 +3 -100 11.0 27.0|40 2 44 V-1 vA 50 19.0 19.0(19 24 1a S+1 L Jo) 110 13.0 25.0
31 12 INS-1 49 -100 110 27.0(34 9 24 V= v2 -110 100 28.0| 4 39 3NS-1 L JO) -50 5.0 33.0
34 9 1lv N-1 v2 -100 11.0 27.0| 5 38 24 V+1 A -140 7.0 31.0|17 26 3NS-1 *0Q -50 5.0 33.0
37 6 INN-1 a4 -100 11.0 27.0(14 29 24 V+1 »2 -140 7.0 31.0|18 25 3NS-1 *Q -50 5.0 33.0
40 2 INN-1 +5 -100 11.0 27.0(35 8 24 O+2 #A -170 40 34.0(33 10 3NS-1 L JO) -50 5.0 33.0
33 10 1a O+2 vQ -140 20 36.0|17 26 2v S-2 *J -200 20 36.0|/34 9 3NS-1 v2 -50 5.0 33.0
13 30 24DV +1 v9 -870 0.0 38.0| 7 36 24DN-3 v9 -800 0.0 38.0|35 8 3NS-1 *Q -50 5.0 33.0
7 4 865 8 «D 9 « Kn109
Syd vED103 Vast v 1072 Nord v73
Alla + K9 Ingen ¢ 10742 ov + EDKNn865
&EKn42 #EKn875 £Kn9
4 KKn10432 & E97 4953 & K1042 s E2 » K86
v 982 v 654 vKn983 vEDG65 vED54 vK10962
¢ ED 46543 + EDKNn6 ¢ 853 41032 ¢ K7
*K6 #983 *42 #93 #ED52 4863
«D « EKn876 « D7543
v KKn7 v K4 v Kn8
¢ Kn10872 + K9 +94
#D1075 #KD106 *K1074
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 37 4v S= v4 620 38.0 00[15 30 INN+2 +3 150 370 10| 6 39 34 S-2 +3 -100 38.0 0.0
32 13 2v N+4 v2 230 36.0 20(38 7 2NN+1 v5 150 370 10(38 7 INV+2 +Q -150 36.0 2.0
5 1 34V-2 a5 200 290 90| 5 1 3#N+1 +5 130 30,0 80(34 11 3¢ N-4 v2 -200 34.0 4.0
12 33 34 V-2 46 200 29.0 9.0(14 31 24 S+2 v2 130 30.0 80|15 30 34aDN-3 4A -500 32.0 6.0
14 31 34 V-2 a2 200 290 9.0(24 21 3 N+1 vA 130 30.0 8017 28 4v O= +9 -620 30.0 8.0
15 30 34 V-2 a5 200 29.0 9.0(32 13 34 S+1 &4 130 30.0 80(32 13 3NV +1 aJ -630 28.0 10.0
18 27 34 O-2 3 200 29.0 9.0(34 11 34 S+1 v2 130 30,0 80| 2 4 4vV+1 aJ -650 14.0 24.0
29 16 34 V-2 a5 200 29.0 9.0 8 37 2NN= +4 120 210 170| 5 1 4v O+1 +9 -650 14.0 24.0
17 28 2¢ S+4 v2 170 220 16.0(17 28 INS+1 v2 120 21.0 17.0| 8 37 4v V+1 aJ -650 14.0 24.0
6 39 3&S+2 v8 150 18.0 20.0(22 23 INS+1 49 120 21.0 17.0(12 33 4v V+1l +5 -650 14.0 24.0
20 25 34 S+2 oT 150 18.0 20.0(35 10 2NN= vA 120 21.0 17.0(14 31 4v V+1 aJ -650 14.0 24.0
34 11 2¢ S+3 v2 150 18.0 200 2 4 1s4 S+1 &4 110 13.0 25.0|18 27 4v O+1 +9 -650 14.0 24.0
2 4 2¢ S+2 aT 130 13.0 250 6 39 34 S= v3 110 13.0 25.0(20 25 4v O+1 +9 -650 14.0 24.0
35 10 3+ S+1 v2 130 13.0 25.0(18 27 34 S= v8 110 13.0 25.0(22 23 4v V+1 aJ -650 14.0 24.0
24 21 24 V-1 a5 100 9.0 29.0|20 25 24 S= a2 110 13.0 25.0|24 21 4v O+1 +9 -650 14.0 24.0
36 9 24 V-1 a5 100 9.0 29.0|29 16 INS= 46 90 8.0 30.0|29 16 4v O+1 +9 -650 14.0 24.0
22 23 1a V= 46 -80 40 34019 26 14 S= *3 80 6.0 32.0|35 10 4v O +1 +9 -650 14.0 24.0
38 7 la V= a5 -80 40 340|136 9 3NN-1 v6 -50 3.0 350|36 9 4v V+1 aJ -650 14.0 24.0
40 3 la V= a5 -80 40 340|140 3 3NN-1 +3 -50 3.0 350|40 3 4v V+1 aJ -650 14.0 24.0
19 26 24 V+1 *+ K -140 0.0 38.0|12 33 44DS-1 +8 -100 0.0 38.0|19 26 5¢DS-5 ¥2 -1100 0.0 38.0
10 4109432 11 #« E832 12 « Kn53
Ost v 764 Syd v Kn1096 Vast v D963
Alla ¢ E6 Ingen + D653 NS ¢+ E973
&#KD2 &3 #KKn
a5 4 DKn76 4 KKn 4 D7 4D1084 &-
vEKn832 vD95 vKD7 v E852 vEK754 v102
+ KD 4975 ¢ KKn84 ¢ 1097 41084 ¢ KD652
#E9743 #1065 #KKn84 #ED76 &E #D97654
+ EK8 + 109654 « EK9762
v K10 v43 vKn8
¢ Kn108432 ¢ E2 ¢+ Kn
#Kn8 #10952 £10832
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
6 2 34V-5 *J 500 38.0 00[|20 27 3NV-2 vJ 100 370 10|15 32 4¢DV-2 43 300 38.0 .0
20 27 2¢ S+2 ¢+ K 130 350 3.0(35 12 5&V-2 v] 100 370 10| 6 2 3NV-3 3 150 34.0 .0
23 24 2¢ S+2 v2 130 350 30| 3 5 3NV-1 a4 50 310 7.0(13 34 INO-3 46 150 34.0 .0
3 5 2¢S+1 vA 110 300 80| 9 38 3NO-1 a4 50 310 7.0(35 12 54 0-3 a K 150 34.0 .0
33 14 3¢ S= A 110 30.0 80(19 28 3NV-1 3 50 310 70(36 11 INO-2 a7 100 30.0 .0
35 12 24 N= &T 110 30.0 80|37 10 3NV-1 vJ] 50 310 70| 3 5 4e¢V-1 +3 50 26.0 .0
9 38 3v0O-1 *J 100 23.0 15.0(13 34 44DS-2 8 -300 26.0 12.0(20 27 4¢ V-1 a K 50 26.0 .0
13 34 3vO-1 s A 100 230 150| 7 1 3NO= 46 -400 23.0 150|40 4 2v V-1 a3 50 26.0 .0
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3v V-1 ¢ A 100 15.0 3NO= vJ] -400 15.0 lv V= +3 -80 22.0
3vVv-1 ¢ A 100 15.0 3NV +1 vJ -430 28.0 44 S-1 vA -100 19.0
34 S-1 &A -100 23.0 3NV +1 »3 -430 28.0 34 S-1 vK -100 19.0
24 N-1 v5 -100 23.0 3NV +1 vJ] -430 28.0 3 0= &K -110 14.0
24 N-1 v5 -100 23.0 3NV +1 v] -430 28.0 32 0= ¢J -110 14.0
34 N-1 v5 -100 23.0 3NV +1 v] -430 28.0 3#0= +J -110 14.0
lv V+1 ¢ A -110 28.0 3NV +1 vJ -430 28.0 34DS-1 ©vA -200 8.0
34 N-2 v4 -200 33.0 3NV +1 v] -430 28.0 34DS-1 #A -200 8.0
4¢DS-1 45 -200 33.0 3NV +1 v9 -430 28.0 34DS-1 2 -200 8.0
34 N-2 v4 -200 33.0 3NV +1 vJ] -430 28.0 3NO = s A -400 4.0
34 N-2 v5 -200 33.0 3NV +1 v] -430 28.0 3¢DO= &A -470 2.0
3yvDO= &A -730 38.0 3NV +1 v] -430 28.0 3ND N - ¢+ K -1100 0.0
« Kn8 « KD864 463
v KKn3 v98 v Kn843
+ Kn8652 493 + 10964
#EKn4 #Kn732 K95
4E103 4K764 & Kn32 a7 4Kn975 4 ED
vED974 v10865 vE53 vKn10762 vE976 vKD5
¢+ D103 + K94 ¢ KKn1075 ¢ ED42 ¢+KD83 +¢E2
K9 #103 84 #E105 &Kn #E76432
« D952 « E1095 4 K10842
v2 vKD4 v 102
¢ E7 + 86 ¢ Kn75
#D87652 &#KD96 D108
Kontr ut Res Poang Kontr Ut Res Poang Kontr Ut Res g
3NN= vT 600 0.0 34aDN= a7 530 0.0 INO -4 v7 200 1.0
INV-2 2 200 330 50 1 9 34N-= v2 140 26.0 12.0(21 28 6NV -4 *T 200 370 1.0
3v V-2 L} 200 330 50| 7 3 3aN= vJ] 140 260 120 7 3 6NV-3 +4 150 33.0 5.0
INV-2 2 200 330 50| 8 2 24 N+1 vJ] 140 26.0 12.0(38 11 6NV-3 v4 150 330 5.0
2y V-2 a) 200 33.0 50(10 39 34 N= a7 140 260 120 4 6 6NV-2 6 100 30.0 8.0
IN N +2 a4 150 28.0 10.0(14 35 34 N= v2 140 26.0 12.0(17 32 3NO= a2 -400 27.0 11.0
34 S +1 +3 130 26.0 12.0(17 32 34 N= v] 140 26.0 12.0(37 12 3NV= 46 -400 27.0 11.0
3 S= +3 110 23.0 15.0(24 25 34 N= v] 140 26.0 12.0(26 23 4NV = +4 -430 24.0 14.0
34 S= vA 110 23.0 15.0(26 23 24 N+1 v2 140 26.0 12.0(10 39 4v V+1 *T -450 21.0 17.0
2v O0-1 ¢ A 100 16.0 22.0(31 18 34 S= »8 140 26.0 12.0(24 25 4v V+1 *T -450 21.0 17.0
3vVv-1 a) 100 16.0 22.0(37 12 34 N= &5 140 260 120 1 9 3NO+2 vT -460 9.0 29.0
2v V-1 ¢+5 100 16.0 22.0(38 11 34 N= v] 140 260 120 8 2 3NO+2 a4 -460 9.0 29.0
3vv-1 aJ 100 16.0 220 4 6 4¢DO-1 8 100 140 24.0(14 35 3NO+2 a2 -460 9.0 29.0
3vO-1 v2 100 16.0 22.0(19 30 44 N-1 v] -50 11.0 27.0(19 30 4NO+1 a2 -460 9.0 29.0
INV= ¢+5 -90 10.0 28.0({20 29 44 N-1 v] -50 11.0 27.0({20 29 3NO +2 a2 -460 9.0 29.0
2v V= aJ -110 40 34.0(34 15 44DN-1 2 -100 7.0 31.0|22 27 3NO+2 vT -460 9.0 29.0
2v V= aJ -110 40 340|40 5 44DN-1 &7 -100 7.0 31.0|31 18 3NO+2 v6 -460 9.0 29.0
2v V= 2 -110 40 34022 27 3vO= &K -140 40 34.0|34 15 4NO+1 v2 -460 9.0 29.0
2v V= 2 -110 40 34016 33 4vDO= #Q -590 1.0 37.0(36 13 4NO+1 a4 -460 9.0 29.0
2v V= aJ -110 40 34.0(21 28 4vDO= aA -590 1.0 37.0{40 5 3NO+2 vT -460 9.0 29.0
109 17 « D62 18 # K6432
v4 Nord v K654 Ost v32
¢+ ED54 Ingen ¢ E94 NS ¢ Knl102
#EDKn875 #1084 K83
« EDKn86 & K52 & Kn5 » EK109843 4 D1097 & EKn
v Kn9 v K10652 vKn vED102 vKDKn984 vE
+8 4962 ¢ KDKn107 45 ¢+ E9 + K87543
#K10943 #62 #EKDKNn2 &5 *7 #E1042
4743 a7 485
vED873 v 9873 v 10765
¢ KKn1073 4 8632 + D6
»- #9763 #DKn965
Kontr Ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
34DV-2 v4 500 38.0 0.0(17 34 6NV-2 v6 100 350 30| 5 7 6vV-1 v2 50 370 1.0
5¢ S+1 +8 420 36,0 20(18 33 7NDV-1 +¢A 100 350 30 9 3 3NO-1 *Q 50 370 1.0
5¢ N= 4 K 400 33.0 50|21 30 6NV-2 v6 100 350 30|23 28 5¢ O= L JO) -400 34.0 4.0
5¢ N= &K 400 330 50[(40 6 6NV- v5 100 350 3.0(32 19 4v V+1 +J -450 31.0 7.0
34DV-1 v4 200 30,0 80| 2 10 74 0-1 *6 50 26.0 12.0(39 12 4v V+1 *T -450 31.0 7.0
4¢ S+1 v] 150 270 110 8 4 64 O-1 +4 50 26.0 12.0(17 34 3NO+2 &5 -460 28.0 10.0
4¢ S+1 aA 150 27.0 11.0(32 19 64 O-1 v7 50 260 120 8 4 4v V+2 &3 -480 25.0 13.0
4¢ S= s A 130 23.0 15.0(37 14 6NO-1 *6 50 26.0 12.0(22 29 4v V+2 43 -480 25.0 13.0
3¢ S+1 +8 130 23.0 15.0(39 12 64 O-1 ¢2 50 26.0 12.0|15 36 3NV +3 »2 -490 16.0 22.0
3& N-1 & K -50 15.0 23.0(22 29 44 O+1 2 -450 20.0 18.0(18 33 3NV +3 a2 -490 16.0 22.0
4¢ S-1 ¢+5 -50 15.0 23.0(11 1 44 O+2 &6 -480 17.0 21.0|20 31 3NO +3 48 -490 16.0 22.0
5¢ S-1 vJ -50 15.0 23.0(38 13 44 O+2 #8 -480 17.0 21.0|25 26 3NO +3 48 -490 16.0 22.0
5¢ S-1 s A -50 15.0 23.0(35 16 44 O+3 &6 -510 14.0 24.0|27 24 3NO+3 &J -490 16.0 22.0
6¢ N-1 a2 -50 15.0 230 5 7 64 O= v7 -980 8.0 30.0|38 13 3NO+3 48 -490 16.0 22.0
3NN-1 a2 -50 150 230 9 3 64 O= v9 -980 8.0 30.0|/40 6 3NV+3 a2 -490 16.0 22.0
5¢ N-2 a2 -100 7.0 31.0|15 36 64 O= &4 -980 8.0 30.0|11 1 4v V+3 v2 -510 6.0 32.0
4¢ S-2 s A -100 7.0 31.0|23 28 64 O= v9 -980 8.0 30.0|35 16 4v V+3 &3 -510 6.0 32.0
44 N -3 a2 -150 3.0 35.0(27 24 64 O= *3 -980 8.0 30.0|37 14 4v O+3 #Q -510 6.0 32.0
44 N -3 46 -150 3.0 35.0|20 31 6NV= 46 -990 20 36.0|21 30 BNO+4 #Q -520 2.0 36.0
3aDN-3 a2 -500 0.0 38.0|25 26 6NV +1 v5 -1020 0.0 38.0| 2 10 6v V= v2 -980 0.0 38.0

BK S:t Erik, Plattliret 2014-02-22, sida 3 av 9




BK S:t Erik, Plattliret 2014-02-22, sida 4 av 9

« DKn 20 « D1083 21 294
v 1087 Vast v 765 Nord vKn109
+ 108764 Alla + KKn103 NS + KKn94
&ED4 K8 #K1042
4 E95432 #1107 4 K5 « E92 4 KD8763 #4Kn
v ED6 v 9532 v K42 v E983 vK2 v E87654
¢ EK +9 ¢ 72 + E95 + E652 + 1087
#103 #KKn9865 #D75432 #EKn6 &E +D75
» K86 4 Kn764 « E1052
v KKn4 v DKn10 vD3
¢ DKn532 + D864 +D3
72 #109 #Kn9863
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 4a V-1 +4 100 380 00| 3 11 3&V+2 48 -150 38.0 0.0|38 15 6v V-3 v9 150 38.0 0.0
11 3¢ N-1 aT 50 360 20|18 35 3NO+1 vQ -630 36.0 2.0|28 25 44 O-2 v9 100 350 3.0
32 3¢ S-2 aA -100 340 4.0|12 2 4v O+l +6 -650 34.0 4.0|40 7 4vO-2 +Q 100 350 3.0
2 24 V+1 +8 -140 27.0 11.0| 1 13 3NO+2 +6 -660 28.0 100| 1 13 3v O-1 +Q 50 24.0 14.0
35 34 V= 2 -140 27.0 11.0|22 31 3NO+2 +4 -660 28.0 10.0| 6 8 4v O-1 »3 50 24.0 14.0
30 34 V= +6 -140 27.0 11.0|28 25 3NO +2 a4 -660 28.0 100|100 4 4v O-1 a5 50 240 14.0
29 34 V= ¢+4 -140 27.0 11.0|39 14 3NO +2 a4 -660 28.0 10012 2 4v O-1 a5 50 24.0 14.0
17 34 V= +4 -140 27.0 11.0|40 7 3NO+2 vQ -660 28.0 10.0|19 34 4v V-1 »2 50 24.0 14.0
7 24 V+1 v7 -140 270 110 6 8 3NO+3 +6 -690 11.0 27.0|21 32 4v V-1 v] 50 240 14.0
5 44 V+1 +4 -150 19.0 190 9 5 3NO+3 vQ -690 11.0 27.0|22 31 4v V-1 vJ] 50 24.0 14.0
27 3V +2 v7 -150 19.0 19.0|10 4 3NO+3 vQ -690 11.0 27.0|24 29 44 V-1 49 50 24.0 14.0
13 24 V +2 *4 -170  11.0 27.0|16 37 3NO +3 vQ -690 11.0 27.0|36 17 44 V-1 +4 50 240 14.0
4 1a V+3 v4 -170  11.0 27.0|19 34 3NO+3 vQ -690 11.0 270| 9 5 24 V= &4 -110 12.0 26.0
37 3#0+3 ¢J -170  11.0 27.0|21 32 3NO+3 vQ -690 11.0 27.0|26 27 24 V= v] -110 12.0 26.0
31 3vO+1 +Q -170  11.0 27.0|23 30 3NO +3 46 -690 11.0 27.0|33 20 24 V= v9 -110 120 26.0
25 24 V+2 2 -170  11.0 27.0|24 29 3NO +3 vQ -690 11.0 27.0| 3 11 3vO= »2 -140 8.0 30.0
14 24 V +2 v8 -170  11.0 27.0|26 27 3NO+3 v3 -690 11.0 27.0|23 30 3v V+2 v] -200 6.0 32.0
8 4¢DS-3 A -500 3.0 35.0|33 20 3NO +3 vQ -690 11.0 27.0|16 37 4v O= *9 -420 3.0 35.0
34 4¢DS-3 ¢A -500 3.0 35.0|36 17 3NO+3 vQ -690 11.0 27.0|18 35 4v O= *6 -420 3.0 35.0
20 4v O = +Q -620 0.0 38.0|38 15 3NO+3 vQ -690 11.0 27.0(39 14 4v V+1 49 -450 0.0 38.0
«D2 23 4 765 24 « Knl108
v2 Syd vKn1054 Vast v K106
¢+ KKn874 Alla ¢ Kn53 Ingen + 1065
#DKn1097 &Kn74 &»K742
# K10843 #Kn76 4 K842 43 4 E642 4 K75
v K98 v EKn63 v987 vK63 vKn5 v87432
¢ E2 +93 ¢+ K874 ¢ ED962 ¢+ K843 ¢ ED9
#EK5 #8642 106 #KD92 #E98 &D3
4« E95 « EDKn109 « D93
vD10754 vED2 vED9
¢ D1065 +10 ¢ Kn72
&3 #E853 #Kn1065
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
38 4¢DS= ¢A 510 370 10(10 6 4e V-2 &4 200 36.0 20| 4 12 3NO-1 3 50 38.0 0.0
21 4¢DS= v2 510 370 10(22 33 2NDV-1 46 200 36.0 20| 1 15 INO+1 *6 -120 32.0 6.0
12 3v O -3 +6 300 33.0 50(23 32 5¢ O-2 aA 200 36.0 20(10 6 2NV= *T -120 32.0 6.0
3 44 V-3 *0Q 300 330 50| 4 12 2¢v N+1 3 140 30,0 80(11 5 2NV= &4 -120 320 6.0
36 4vDO-1 3 200 30.0 80(34 21 34 S= v2 140 30,0 80(13 3 2NV= aJ -120 32.0 6.0
14 44 S= ¢ A 130 28.0 10.0(40 8 24 S+1 v7 140 30.0 80|37 18 INO+1 *6 -120 32.0 6.0
6 3¢ S= 3 110 240 140(13 3 4e V-1 &4 100 250 130 7 9 1lv V+2 ) -140 23.0 15.0
33 3¢ S= A 110 240 14.0(37 18 4¢ O-1 *T 100 25.0 13.0|22 33 2v V+1 aJ -140 23.0 15.0
28 3¢ N= A 110 240 140| 2 14 INO= 4 Q 90 20.0 18.0(23 32 2v V+1 aJ -140 23.0 15.0
30 44 V-1 v2 100 17.0 21.0(24 31 INV= a5 -90 20.0 18.0(39 16 2vy O+1 &5 -140 23.0 15.0
26 INV-1 *Q 100 17.0 21.0(29 26 INV= a5 -90 20.0 18.0(17 38 INO +2 *6 -150 15.0 23.0
16 44 V-1 v2 100 170 21.0(11 5 3¢ V= a5 -110 13.0 25.0|19 36 2N O +1 *J -150 15.0 23.0
8 3v O-1 ¢+6 100 17.0 21.0(20 35 3¢ V= ¢+5 -110 13.0 25.0|27 28 2N O +1 »2 -150 15.0 23.0
31 5¢DS-1 #K -100 12.0 26.0|25 30 3¢ O= *T -110 13.0 25.0(29 26 1INV +2 »2 -150 15.0 23.0
15 24 V= v2 -110 9.0 29.0|27 28 3¢ O= +5 -110 13.0 25.0( 2 14 INV+3 aJ -180 9.0 29.0
5 26 V= *0Q -110 9.0 29.0| 1 15 3¢ V+1 +3 -130 6.0 32.0|/40 8 2NV +2 Ly -180 9.0 29.0
35 2NV = *Q -120 6.0 32.0|17 38 3¢ V+1 a5 -130 6.0 32.0|34 21 INDS-2 2 -300 6.0 32.0
9 24 V+1 v2 -140 40 34.0(39 16 3¢ V+1 46 -130 6.0 32.0|20 35 3NV= &4 -400 2.0 36.0
18 2N O +1 v4 -150 20 36.0| 7 9 24S-2 ¢7 -200 20 36.0|24 31 3NV= &4 -400 2.0 36.0
32 44DN-5 42 -1100 0.0 38.0|19 36 44 S-3 &T -300 0.0 38.0|25 30 3NO= *6 -400 2.0 36.0
494 26 «D2 27 a2
Nord vE8 Ost vED106 Syd v 542
+ Kn10 Alla ¢+ EKn104 Ingen ¢ E97532
#Kn1086432 #DKn10 K108
4 EKn105 &#KD763 4 E10543 #Kn876 » Kn86 & K75
vKD10953 v 762 v 432 v K85 v EKKn107 v D863
¢+ D94 + K3 4932 + D86 + 1086 +Kn
»- #ED7 42 2985 &D7 #Kn9652
482 4 K9 « ED10943
vKn4 v Kn97 v9
¢ E87652 + K75 + KD4
#K95 #EK763 &E43
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
22 74D0O-2 +A 500 380 00| 1 17 3NS+2 3 660 33.0 26 31 44 S+1 vK 450 38.0 0.0
15 6NO-1 ¢ A 100 310 70| 8 10 3NS+2 3 660 33.0 1 17 5¢ N+1 vQ 420 330 5.0
13 64 O-1 ¢ A 100 310 7.0[25 32 3NS+2 43 660 33.0 3 15 5¢ N+1 v6 420 330 5.0
6 64 O-1 *A 100 31.0 7.0(26 31 4NS+1 v3 660 33.0 18 39 44 S= vA 420 33.0 5.0
4 6NO-1 *2 100 31.0 7.0[30 27 3NN+2 »8 660 33.0 23 34 5¢ N+1 v3 420 33.0 5.0
37 64 O-1 ¢ A 100 310 7.0(38 19 3NS+2 46 660 33.0 20 37 3vyDV-2 a2 300 27.0 11.0
34 6v0O-1 LY 100 31.0 7.0|/40 9 4v N+1 a4 650 26.0 21 36 3vyDV-2 a2 300 27.0 11.0
17 44 O+1 vJ] -650 15.0 23.0|11 7 3NS+1 a4 630 22.0 5 13 14 S+4 vA 200 19.0 19.0




564 O= &5 -650 15.0 23.0(12 6 3NN+1 46 630 22.0 16.0| 8 10 34 S+2 vA 200 19.0 19.0
44 O +1 ¢ A -650 15.0 23.0(14 4 3NS+1 a2 630 220 16.0(11 7 24 S+3 vK 200 19.0 19.0
5v V= LN -650 15.0 23.0( 2 16 3NN= a7 600 15.0 23.0(12 6 34 S+2 vA 200 19.0 19.0
44 O +1 ¢ A -650 15.0 23.0( 3 15 3NS= 8 600 15.0 23.0(24 33 24 S+3 vA 200 19.0 19.0
44 O +1 ¢ A -650 15.0 23.0(18 39 3NS= 43 600 15.0 23.0(25 32 34 S+2 vA 200 19.0 19.0
4v V +1 +J -650 15.0 23.0(28 29 3NS= a2 600 150 23.0(14 4 4¢ N+2 42 170 9.0 29.0
460 O+1 42 -650 15.0 23.0| 5 13 3NN-1 a7 -100 8.0 30.0|30 27 24 S+2 vK 170 9.0 29.0
40 O +1 ¢ A -650 15.0 23.0(21 36 4NS-1 a4 -100 8.0 30.0|35 22 4¢ N+2 v5 170 9.0 29.0
54 O= ¢ A -650 15.0 23.0(23 34 3NS-1 a4 -100 8.0 30.0|38 19 34 S+1 vA 170 9.0 29.0
44 O +2 vl] -680 40 34.0(20 37 3NS-2 a2 -200 20 36.0| 2 16 34 S= vK 140 3.0 35.0
3N O +3 *9 -690 2.0 36.0|24 33 4NS-2 43 -200 20 36.0/40 9 34 S= vK 140 3.0 350
64 O= vJ -1430 0.0 38.0|35 22 6NS-2 aA -200 20 36.0|28 29 3v V-2 a2 100 0.0 38.0
« DKn97 29 485 30 46
v EKn7 Nord v 10642 Ost v D863
¢+ D5 Alla + KDKn3 Ingen 4 K98742
#Kn932 &E64 #Kn9
462 41084 «ED762 #Knl0 4 E42 & KKn973
v D542 v 10986 v K5 vED73 vEKKn4 v97
¢E942 ¢ K7 4752 ¢+ E8 + D6 + EKn10
#EKD #10654 #1053  &KD872 #EK52 #D106
« EK53 & K943 4 D1085
vK3 vKn98 v 1052
¢ Kn10863 ¢ 10964 +53
87 &Kn9 £8743
Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
INDV-2 «Q 300 380 00|31 28 3NO-2 +9 200 38.0 00|27 32 64 O-3 v5 150 38.0 0.0
24 S+1 &Q 140 36.0 20| 2 18 3NO-1 +4 100 31.0 7.0|24 35 6NV-2 &J 100 36.0 20
INV-2 «Q 100 240 140 4 16 3NO-1 +6 100 310 70| 2 18 6NV-1 46 50 25.0 13.0
le V-2 +Q 100 240 140 9 11 3NO-1 *T 100 310 70| 9 11 64 O-1 8 50 25.0 13.0
INV-2 4Q 100 240 14.0|22 37 3NO-1 *T 100 310 70(12 8 6NV-1 *7 50 25.0 13.0
INV-2 «Q 100 240 140|126 33 3NO-1 +6 100 310 70(15 5 640-1 ¢+5 50 25.0 13.0
INV-2 +Q 100 240 14.0(29 30 44 V-1 ¢+ K 100 310 7.0(21 38 64 O-1 8 50 25.0 13.0
INV-2 4Q 100 240 14036 23 2NO= *T -120 240 14.0(22 37 64 O-1 +5 50 25.0 13.0
INV-2 «Q 100 240 14015 5 INV+2 ¢+ K -150 21.0 17.0(29 30 64 O-1 v2 50 25.0 13.0
INO-2 a) 100 240 14.0(40 10 3# O +2 *T -150 21.0 17.0|31 28 64 O-1 v5 50 25.0 13.0
INV-2 4Q 100 240 140 6 14 24 O+2 +6 -170 170 21.0(36 23 6NO-1 v2 50 25.0 13.0
INV-2 a) 100 240 14.0(21 38 24 V+2 ¢+ K -170 17.0 21.0(40 10 6NV-1 46 50 25.0 13.0
INV-2 a7 100 240 140(19 1 24 O+3 &J -200 14.0 24.0| 4 16 44 O+1 &5 -450 13.0 25.0
2¢ S= A 90 11.0 27.0| 3 17 3NO= +6 -600 11.0 27.0(13 7 44 O+1 +5 -450 13.0 25.0
2¢ S= *0Q 90 11.0 27.0(27 32 3NO= +4 -600 11.0 27.0| 6 14 3¢DN-4 9 -800 10.0 28.0
INV-1 49 50 40 34013 7 44 V= ¢+ K -620 8.0 30.0| 3 17 6NV = v3 -990 5.0 33.0
INV-1 4Q 50 40 34025 34 3NO+1 +6 -630 6.0 320|19 1 6NO= vT -990 5.0 33.0
INV-1 «Q 50 40 34012 8 3NO+2 +6 -660 20 36.0|25 34 6NV = v6 -990 5.0 33.0
3vVv-1 +Q 50 40 34.0|24 35 3NO+2 a2 -660 2.0 36.0|39 20 6NO = +3 -990 5.0 33.0
INV-1 4Q 50 40 34.0(|39 20 3NO +2 43 -660 20 36.0|26 33 3¢DN-5 &6 -1100 0.0 38.0
« Kn8 32 « EKD9 33 « DKn96
v 9852 Vast vKn972 Nord v EK3
¢ KKn62 oV ¢ ED73 Ingen 463
#9084 &2 #EDKn4
« EKD107 4953 4 Knl06 «87 « EK875 4104
v6 v EKDKn vED v 643 v 952 v DKn7
4973 + ED8 ¢+Kn86 ¢ K10942 ¢ DKn7 ¢ E1042
#Kn1072 #ED3 #ED854 #1096 #93 #8762
642 45432 32
v 10743 v K1085 v 10864
¢ 1054 +5 + K985
£#K65 &#KKn73 #K105
Kontr Ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
INO-1 2 50 380 00[(20 2 44 N+1 2 450 380 00|16 6 24DV-3 ¥vK 500 38.0 0.0
3N O +3 v5 -490 320 6.0| 7 15 44 N= +6 420 340 40|28 33 3NN-= aT 400 350 3.0
3N O +3 v3 490 320 6.0(10 12 4v S= 46 420 340 40|32 29 3NN= T 400 35.0 3.0
3N O +3 +6 490 320 6.0|16 6 4v S= +6 420 340 40| 4 18 24DV-2 ©vA 300 30.0 8.0
3N O +3 v3 490 320 6.0(32 29 3¢DO-1 3 200 30,0 80(26 35 24DO-2 43 300 30.0 8.0
3N O +3 *T 490 320 6.0(30 31 2v S+2 A 170 28.0 10.0(37 24 24DV-2 vA 300 30.0 8.0
64 O = a5 -980 25.0 13.0| 3 19 3v N= *T 140 240 140| 1 21 2NN+1 T 150 19.0 19.0
64 V= v5 -980 25.0 13.0| 4 18 3v S= +6 140 240 140| 5 17 2NN+1 aT 150 19.0 19.0
6N O = v3 -990 11.0 27.0(40 11 2v S+1 aJ 140 240 14.0(10 12 INN+2 &8 150 19.0 19.0
6N O = +4 -990 11.0 27.0|23 38 2v S= +6 110 19.0 19.0(13 9 INN+2 &8 150 19.0 19.0
6N O = v4 -990 11.0 27.0|27 34 2v N= +6 110 19.0 19.0(14 8 INN+2 a2 150 19.0 19.0
6N O = v3 -990 110 27.0(13 9 4vS-1 +6 -50 15.0 23.0(23 38 INN+2 *6 150 19.0 19.0
6N O = 46 990 11.0 27.0|14 8 4v S-1 a] -50 15.0 23.0(25 36 INN+2 T 150 19.0 19.0
6N O = ¢+4 -990 11.0 27.0(22 39 INV= s A -90 12.0 26.0 (27 34 2NN+1 &2 150 19.0 19.0
6N O = *4 -990 11.0 27.0| 5 17 4v S-2 +6 -100 9.0 29.0| 3 19 INN+1 2 120 7.0 31.0
6N O = v3 -990 11.0 27.0|37 24 4v S-2 +6 -100 9.0 29.0| 7 15 2NS= +Q 120 7.0 31.0
6N O = a2 990 11.0 27.0| 1 21 2¢DO= ¥8 -180 50 33.0|22 39 INN+1 +3 120 7.0 31.0
6N O = v2 -990 11.0 27.0(25 36 2¢DO= ¢5 -180 50 33.0|/40 11 INN+1 *4 120 7.0 31.0
6N O = v3 -990 11.0 27.0|28 33 14DV +1 &A -340 20 36.0|/20 2 1la V-2 vA 100 1.0 37.0
6N O = +4 -990 11.0 27.0(26 35 24DV +1 &2 -380 0.0 38.0|30 31 24 V-2 vA 100 1.0 37.0
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34 48 35 # K109532 # K953
Ost v K109542 Syd v- v52
NS ¢+ Kn3 ov + K8 + KD95
#KDKn5 #109864 #943
4 Kn972 #E105 a7 4 E8 & Kn87 a2
vD7 v E86 vKD832 vEKn1054 v ED9 v KKn873
+ K1074 ¢ 986 49654 ¢ E10732 +84 + 1076
#932 »10764 &#Kn53 &K #Kn10652 #EK87
« KD643 « DKn64 « ED1064
vKn3 v 976 v 1064
¢ ED52 ¢ DKn ¢ EKn32
&E8 &ED72 &D
Par Kontr ut Res Poang Par Kontr Ut Res Poang Kontr Ut Res Poang
5 4v N +2 &T 680 10|17 7 44DN+1 &K 690 38.0 0.0 44 S = vA 620 350 3.0
33 4v N +2 ¢+6 680 10| 4 20 44DS= ¥vK 590 340 4.0 44 S = a7 620 350 3.0
2 3N N +2 +8 660 9.0(11 13 44DN= &K 590 340 4.0 44 S = vA 620 350 3.0
6 3NN +2 *6 660 . 9.0|31 32 44DN= &K 590 340 4.0 44 S = +8 620 350 3.0
8 3N N +2 »3 660 . 9.0| 2 22 44 N= aA 420 24.0 14.0 34 S+1 +8 170 17.0 21.0
21 3NN +2 &6 660 . 9.0 5 19 44 N= vA 420 24.0 14.0 34 S+1 &2 170 17.0 21.0
31 3N N +2 +9 660 . 9.0| 8 16 44 S= ¢J 420 24.0 14.0 34 S+1 vA 170 17.0 21.0
38 3N N +2 *6 660 . 9.0|14 10 44 N= aA 420 24.0 14.0 34 S+1 +8 170 17.0 21.0
11 4v N +1 »6 650 .0 20.0|24 39 44 N= &K 420 24.0 14.0 34 S+1 +8 170 17.0 21.0
14 4v N +1 +9 650 .0 20.0|27 36 44 N= ¢ A 420 24.0 14.0 34 S+1 +8 170 17.0 21.0
15 4v N +1 v3 650 .0 20.0|38 25 44 N= &K 420 24.0 14.0 34 S+1 +3 170 17.0 21.0
24 4v S +1 »3 650 .0 20.0|40 12 54 N-1 &K -50 16.0 22.0 34 S+1 vA 170 17.0 21.0
26 4v N +1 +6 650 8.0 20.0| 6 18 54DS-1 ¥K -100 8.0 30.0 34 S+1 +8 170 17.0 21.0
28 3NN +1 *6 630 20 26.0|15 9 54DN-1 &K -100 8.0 30.0 34 N+1 +8 170 17.0 21.0
23 4v N = +6 620 8.0 30.0|23 1 54DS-1 vK -100 8.0 30.0 34 S+1 »2 170 17.0 21.0
27 4v N = *2 620 8.0 30.0|26 37 54DN-1 ¥vA -100 8.0 30.0 34 S+1 &5 170 17.0 21.0
29 4v S= »3 620 8.0 30.0|28 35 54DN-1 &2 -100 8.0 30.0 24 S+2 *J 170 17.0 21.0
17 2v N +3 LY 200 3.0 35.0|29 34 54DS-1 &2 -100 8.0 30.0 34 S+1 vA 170 17.0 21.0
40 2v N +3 a5 200 3.0 35.0|33 30 54DS-1 ¥K -100 8.0 30.0 34 0O+2 45 -150 2.0 36.0
4 2v N +2 *6 170 0.0 38.0|21 3 64DN-2 &K -300 0.0 38.0 4v V = aA -620 0.0 38.0
37 « EKKn86 38 » KKn862 » K109
Nord v EDKn972 Ost vE1095 v KKn5432
NS .- oV 4976 +10
#85 &3 874
454 4 D973 « E43 4 D1095 # 654 ~ E87
v 106 v 84 v8743  vDKn6 vD vE1086
410942 + EKn76 ¢+ KD102 ¢ EKn43 ¢ Kn983 ¢ KD6542
#DKn1043 #E97 &E8 *97 #109652 &-
102 a7 « DKn32
v K53 v K2 v 97
¢ KD853 ¢85 ¢ E7
K62 #KDKn106542 #EKDKnN3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Kontr Ut Res Poang
3 6v N = ¢A 1430 00|24 2 4e V-4 &3 400 370 1.0 3v N= ¢+ K 140 33.0 5.0
5 4v N +2 a7 680 10.0 (28 37 54 O-4 &K 400 370 1.0 3v S= +8 140 330 5.0
6 4v N +2 v8 680 10.0| 7 19 3 S+1 ¢+ K 130 320 6.0 3v N= ¢+ K 140 33.0 5.0
18 4v N +2 v6 680 10.0({18 8 34 S+1 +6 130 320 6.0 3v S= +8 140 33.0 5.0
22 4v N +2 v6 680 10.0(39 26 34 S+1 ¢+ K 130 320 6.0 2v S+1 &T 140 330 5.0
27 4v N +2 a7 680 10.0|12 14 34 S= *+ K 110 27.0 11.0 3v N= ¢+ K 140 33.0 5.0
28 4v N +2 ¢A 680 10.0(15 11 34 S= ¢+ K 110 27.0 11.0 4% S = +6 130 25.0 13.0
29 4v N +2 v4 680 100 9 17 44 N-1 vQ -50 22.0 16.0 34 S+1 +6 130 25.0 13.0
32 4v N +2 v8 680 10.0|30 35 4# S-1 ¢+ K -50 22.0 16.0 4v N -1 ¢+ K -100 19.0 19.0
34 4v N +2 v2 680 10.0(34 31 44 S-1 v2 -50 22.0 16.0 4v N -1 ¢+ K -100 19.0 19.0
7 4v N +1 A 650 270 3 23 5#S-2 ¢+ K -100 14.0 24.0 4v N-1 v6 -100 19.0 19.0
9 4v N +1 v4 650 27.0(22 4 4¢DS-1 ¢K -100 14.0 24.0 4v N -1 ¢+ K -100 19.0 19.0
15 4v N +1 va 650 27.0 (27 38 5# N-2 ¢+ K -100 14.0 24.0 5& S -2 +8 -200 12.0 26.0
16 4v N +1 v7 650 27.0(29 36 44DS-1 +K -100 14.0 24.0 5& S -2 +8 -200 12.0 26.0
24 4v N +1 v2 650 27.0(32 33 44DS-1 ¢K -100 14.0 24.0 4¢vDN-1 2 -200 12.0 26.0
30 4v N +1 v8 650 27.0(16 10 3NS-3 ¢+ K -150 8.0 30.0 3NS-4 +8 -400 8.0 30.0
39 4v N +1 v4 650 270 5 21 54DS-2 +¢K -300 3.0 350 4v N-5 ¢+ K -500 6.0 32.0
40 4v N +1 v4 650 270 6 20 44DS-2 ¢K -300 3.0 35.0 4¢DO= #A -710 4.0 34.0
12 4v S = *Q 620 36.0|25 1 54DS-2 +¢K -300 3.0 350 4¢DO+1 #A -910 2.0 36.0
25 7vyDN-2 #A -500 38.0[40 13 54DS-2 +¢K -300 3.0 350 5DN-5 ¢K -1400 0.0 38.0
40 +E 41 « ED97 452
Vast vE10974 Nord v6 v EK107
Ingen +9 ov ¢ EKn1093 ¢ Kn963
#KKn8654 &E83 #1062
& KKn1096 48532 41084  4K53 « KKn873 4 D109
v D865 vK vDKn94 ¢E832 v D98 v-
¢43 + KKn10 + K5 + D642 ¢75 + K10842
a72 #ED1093 &KD95 %64 #Kn94 #EK853
« D74 « Kn62 « E64
vKn32 vK1075 v Kn65432
¢+ ED87652 + 87 ¢ED
»- #Kn1072 D7
Par Kontr Ut Res Poang Par Kontr ut Res Poang Kontr ut Res Poang
1 27 4v N= +K 420 10| 7 21 INO-3 +8 300 38.0 5vDS= &K 850 38.0 0.0
4 24 4v N= 3 420 10|25 3 INO-2 a2 200 36.0 4vDS= &) 790 36.0 20
10 44DV -2 49 300 5.0|17 11 1e N+2 *6 140 34.0 4v S +1 ¢7 650 340 4.0
13 3aDV-2 ¢9 300 50| 4 24 INS+1 vQ 120 29.0 4v S= ¢7 620 28.0 10.0
26 3v N+1 +J 170 8.0|13 15 INS+1 vQ 120 29.0 4v S= *7 620 28.0 10.0
23 3y N= a2 140 10.0({19 9 INN+1 +4 120 29.0 4v S= 48 620 28.0 10.0
25 34 V-1 +9 50 12.0|30 37 INS+1 aT 120 29.0 . 4v S= ¢7 620 28.0 10.0
16 4v N-1 a8 -50 18.0(16 12 14 N+1 *6 110 21.0 17. 4v S= *7 620 28.0 10.0
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17 11 4v N-1 *T -50 200 18.0(26 2 14 N+1 *6 110 21.0 17.0(19 9 44DV-2 ©vA 500 21.0 17.0
28 39 4v N-1 a2 -50 20.0 18.0(28 39 24 N= *6 110 21.0 17.0(31 36 44DV-2 ©vA 500 21.0 17.0
31 36 4v N-1 48 -50 20.0 18.0(31 36 24 N= &7 110 21.0 17.0(10 18 44 V-3 vA 300 17.0 21.0
33 34 3¢ S-1 *2 -50 20.0 18.0(10 18 INO-1 +8 100 16.0 22.0 (40 14 44 V-3 vA 300 17.0 21.0
7 21 4v N-2 43 -100 11.0 27.0|23 5 2¢ N= 2 90 140 24.0|23 5 44 V-1 vA 100 12.0 26.0
8 20 5v N-2 43 -100 11.0 27.0| 1 27 14 N= LY 80 9.0 29.0|28 39 34 O-1 vA 100 12.0 26.0
35 32 4v N-2 49 -100 11.0 27.0| 6 22 14 N= *6 80 9.0 29.0|33 34 44 V-1 vA 100 12.0 26.0
40 14 5vDN-1 43 -100 11.0 27.0|35 32 14 N= *6 80 9.0 29.0| 6 22 34 V= vA -140 8.0 30.0
6 22 5vyDN-2 45 -300 5.0 33.0|40 14 14 N= &6 80 9.0 29.0| 7 21 34 V+1 vK -170 6.0 32.0
30 37 5vDN-2 43 -300 50 33.0| 8 20 INV= +J -90 40 34.0| 8 20 5vDS-1 7 -200 4.0 34.0
19 9 5¢DN-3 48 -500 2.0 36.0|29 38 24 N-2 *6 -100 1.0 370| 4 24 44 V= vA -620 2.0 36.0
29 38 5vDN-4 3 -800 0.0 38.0|33 34 INS-2 vQ -100 1.0 37.0(35 32 44DV= vA -790 0.0 38.0
43 4652 44 «D2 45 4 K3
Syd v EKn63 Vast v8 Nord v EK3
Ingen + 104 NS ¢+ EKn9764 Alla ¢ Kn10974
D973 #D1096 #KKn3
4 KD94 4 E873 4 EK109875 443 41087 494
v54 v 1087 v KKn7 v D109653 v 102 v Kn8765
¢ KD973 4652 +5 + K103 ¢ EK63 D8
#105 *K62 *Kn7 #85 #10652 #D987
4 Kn10 4« Kn6 « EDKn652
vKD92 v E42 vD9%4
¢ EKn8 + D82 ¢ 52
&#EKn84 »EK432 &E4
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
27 3 34DO-3 &J 500 38.0 00|11 19 54DV-3 +A 500 38.0 00[34 35 3NN+3 v2 690 38.0 0.0
2 28 INS+3 ¢+ K 180 340 40|31 38 5vD0O-2 &K 300 36.0 20(40 15 44 N+2 »8 680 36.0 20
30 39 INS+3 ¢+ K 180 340 4.0(20 10 44 V-3 v8 150 31.0 7.0(17 13 4ANN+1 v5 660 33.0 5.0
32 37 INS+3 ¢+ K 180 340 40(24 6 44 V-3 v8 150 31.0 7.0[32 37 3NN+2 49 660 330 5.0
8 22 2v N+2 +3 170 300 80|26 4 44 V-3 v8 150 310 70| 5 25 44 S+1 ¢ A 650 19.0 19.0
9 21 INS+2 ¢+ K 150 23.0 15027 3 44 O-3 v8 150 310 70| 7 23 44 S+1 ¢ A 650 19.0 19.0
14 16 INS+2 v2 150 23.0 150 9 21 3¢ N+1 v4 130 240 140| 8 22 44 N+1 ¢ Q 650 19.0 19.0
18 12 INN+2 *7 150 23.0 15.0(14 16 4¢ N= a2 130 240 140| 9 21 44 N+1 v4 650 19.0 19.0
24 6 INS+2 2 150 23.0 15.0(32 37 4¢ N= »2 130 240 14011 19 44 N+1 v8 650 19.0 19.0
36 33 INS+2 +3 150 23.0 150 7 23 44 V-2 v8 100 19.0 19.0(14 16 44 N+1 ¢+ Q 650 19.0 19.0
40 15 INS+2 ¢+ K 150 23.0 150 8 22 4vDO-1 &A 100 19.0 19.0(20 10 54 S= ¢ A 650 19.0 19.0
20 10 3v S= &K 140 16.0 220 5 25 5# N-1 a4 -100 14.0 24.0|24 6 44 N+1 ¢+ Q 650 19.0 19.0
17 13 INS+1 +3 120 12.0 26.0(17 13 5¢ N-1 a4 -100 14.0 24.0|26 4 44 N+1 v5 650 19.0 19.0
26 4 INS+1 +3 120 120 26.0(36 33 5#S-1 s A -100 14.0 24.0(27 3 54 N= * K 650 19.0 19.0
31 38 INS+1 +3 120 120 26.0(18 12 24 V= v8 -110 10.0 28.0|31 38 44 N+1 v5 650 19.0 19.0
525 24 V-1 &7 50 70 31.0| 2 28 34 V= v8 -140 7.0 31.0|36 33 44 N+1 v5 650 19.0 19.0
11 19 2¢ V-1 &7 50 7.0 31.0|34 35 34 V= v2 -140 7.0 31.0|18 12 44 N= v3 620 5.0 33.0
34 35 24 O= v2 -110 40 34.0(29 1 34V +2 v8 -200 40 34.0|30 39 44 N= v5 620 5.0 33.0
7 23 24 V+ *T -140 2.0 36.0|40 15 44 V= *9 -420 20 36.0| 2 28 64 N-1 v5 -100 1.0 37.0
29 1 24DO= ] -470 0.0 38.0|30 39 44DV= v8 -590 0.0 38.0|29 1 645S-1 *A -100 1.0 37.0
46 « KKn653 47 « K872 48 10754
Ost v 1075 Syd vK7 Vast vEDG6
Ingen +92 NS 41098 ov ¢ DKn10
K104 #10742 D102
s E4 498 4DKn3 4109 4832 « EKDKn6
vKD v 9843 v 10843 ¥ DKn9652 v1075432 +8
¢ EKD108 ¢ 73 ¢ E42 4653 +54 49632
#DKn96 487532 #KKn9 &E3 *74 *K65
4« D1072 « E654 49
v EKn62 vE v KKn9
¢ Kn654 ¢ KDKn7 + EK87
&E £D865 #EKn983
Par  Kontr Ut Res Poéang Par  Kontr ut Res Poéang Par  Kontr ut Res Poéang
25 7 3vDO-2 &A 300 38.0 00|15 17 5vDO-3 +¢K 500 370 10(25 7 5#S+1 49 420 38.0 0.0
8 24 2NV -3 a2 150 350 30(28 4 5vDO-3 +¢K 500 370 10(18 14 24DO-1 +A 200 36.0 20
12 20 3NV-3 46 150 350 30|19 13 5vD0O-2 +¢K 300 33.0 50(12 20 34 S+3 LY 170 320 6.0
9 23 24 N+1 v9 140 320 6.0|21 11 4¢vDO-2 +¢K 300 33.0 50(15 17 3&# N+3 s A 170 320 6.0
15 17 2NV -2 43 100 290 90| 8 24 24 N= vQ 110 30,0 80(27 5 3&#N+3 4 A 170 320 6.0
31 1 2NV-2 +9 100 290 90| 9 23 INS= v5 90 27.0 11.0(19 13 INN+1 4Q 120 28.0 10.0
329 3#40-1 a4 50 21.0 17.0(10 22 INS= v3 90 27.0 11.0( 3 29 3NN-1 aJ -50 16.0 22.0
6 26 440-1 a7 50 21.0 170| 3 29 34 N-1 vQ -100 150 23.0( 8 24 3NS-1 43 -50 16.0 22.0
10 22 4+ V-1 43 50 210 170| 6 26 34 S-1 va -100 15.0 23.0| 9 23 3NN-1 aA -50 16.0 22.0
30 2 44 0-1 a7 50 21.0 17.0(12 20 34 S-1 v4 -100 15.0 23.0|10 22 3NN-1 s A -50 16.0 22.0
35 36 34 O-1 v4 50 21.0 17.0(18 14 34 N-1 A -100 15.0 23.0|21 11 3NN-1 s A -50 16.0 22.0
40 16 44 V-1 43 50 210 170(25 7 34 N-1 A -100 15.0 23.0|28 4 3NN-1 4 A -50 16.0 22.0
18 14 34 N-1 ¢7 -50 120 26.0(27 5 34 N-1 vQ -100 15.0 23.0|30 2 3NN-1 s A -50 16.0 22.0
32 39 34 N-1 ¢7 -50 120 26.0({30 2 34 N-1 LY -100 15.0 23.0|31 1 3NN-1 +Q -50 16.0 22.0
33 38 34 N-1 v4 -50 12.0 26.0(33 38 34 N-1 &A -100 15.0 23.0|33 38 3NN-1 4Q -50 16.0 22.0
19 13 34 N-2 ¢7 -100 6.0 32.0|35 36 34 N-1 vQ -100 15.0 23.0|35 36 3NN-1 & A -50 16.0 22.0
27 5 44DN-1 ¢Q -100 6.0 32.0|40 16 44 N-1 v] -100 15.0 23.0|37 34 3NN-1 +Q -50 16.0 22.0
28 4 4v N-2 2 -100 6.0 32.0|31 1 44 N-2 A -200 20 36.0| 6 26 3NDS-1 42 -100 3.0 35.0
21 11 3¢ V= 3 -110 1.0 37.0(32 39 44 N-2 A -200 2.0 36.0|32 39 3NDN-1 4A -100 3.0 35.0
37 34 340= a5 -110 1.0 37.0(37 34 44 N-2 A -200 2.0 36.0|40 16 4vDN-2 &K -300 0.0 38.0
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49 « ED1093 50 43 51 « EK43
Nord v7 Ost v 1043 Syd v3
Ingen ¢+ EKD62 NS ¢ 107 ov + 10876
84 #EDKn7632 #E986
+K 4 Kn76 & K72 « EDKn10854 48762 #1095
vKD986 vKn1043 v Kn96 vKD2 vD954 vE876
¢+Kn84  +103 ¢ E98543 +6 ¢EK4 532
#E973  &DKn62 *9 *K5 #52 «D107
#8542 496 4« DKn
vE52 v E875 v KKn102
4975 ¢ KDKn2 + DKn9
#K105 £1084 #KKn43
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
38 35 5vDV-3 +¢K 500 380 00| 4 30 44 O+1 ¢+ K -450 27.0 11.0(16 18 3NS+1 v3 430 350 3.0
4 30 44 N+1 *T 450 220 16.0| 7 27 44 O+l vA -450 27.0 11.0(19 15 3NS+1 ¢ A 430 350 3.0
7 27 44 N+1 v] 450 220 16.0|11 23 44 O+1 &4 -450 27.0 11.0(32 2 3NS+1 ¢ A 430 350 3.0
10 24 44 N+1 46 450 22.0 16.0(13 21 44 O+1 ¢+ K -450 27.0 11.0(34 39 3NS+1 vJ] 430 350 3.0
11 23 44 N+1 v] 450 220 16.0(16 18 44 O+1 +Q -450 27.0 11.0(13 21 3NS= ¢ A 400 25.0 13.0
13 21 44 N+1 vJ] 450 220 16.0|20 14 44 O+1 +J -450 27.0 11.0(20 14 3NS= ¢ A 400 25.0 13.0
16 18 44 N+1 *T 450 22.0 16.0(22 12 44 O+1 ¢+ K -450 27.0 11.0(31 3 3NS= ¢ A 400 25.0 13.0
20 14 44 N+1 *0Q 450 220 16.0|26 8 44 O+1 ¢+ K -450 27.0 11.0(36 37 3NS= v5 400 25.0 13.0
26 8 44 N+1 *T 450 220 16.0(28 6 54 O= »2 -450 27.0 11.0(38 35 3NS= ¢ A 400 25.0 13.0
28 6 44 N+1 46 450 220 16.0(32 2 44 O+1 ¢+ K -450 27.0 11.0(40 17 3NS= v3 400 25.0 13.0
29 5 44 N+1 v4 450 22.0 16.0|34 39 44 O+1 v2 -450 27.0 11.0| 7 27 3v O-3 +Q 300 18.0 20.0
32 2 44 N+1 *0Q 450 22.0 16.0(38 35 44 O+1 +K -450 27.0 11.0( 4 30 INS+4 ¢ A 210 16.0 22.0
33 1 44 N+1 v] 450 22.0 16.0|10 24 44 O+2 ¢+ K -480 10.0 28.0 9 25 INN+3 v7 180 11.0 27.0
34 39 44 N+1 v2 450 220 16.0(29 5 44 O+2 ¢+ K -480 10.0 28.0(22 12 INS+3 ¢+ K 180 11.0 27.0
36 37 44 N+1 *0Q 450 220 16.0(33 1 44 O+2 +K -480 10.0 28.0(26 8 1INS+3 v4 180 11.0 27.0
40 17 44 N+1 v] 450 22.0 16.0|36 37 44 O+2 ¢+ K -480 10.0 28.0(28 6 1INN+3 ¢ A 180 11.0 27.0
9 25 44 N= *T 420 4.0 34.0|40 17 44 O+2 ¢+ K -480 10.0 28.0(10 24 INS+2 ¢ A 150 4.0 34.0
19 15 44 N= va 420 40 34031 3 44DO+1 ¢Q -690 40 34.0(11 23 INS+2 v5 150 4.0 34.0
31 3 44 N-= *T 420 40 34.0|19 15 54DN-3 vK -800 20 36.0|29 5 INS+2 ¢ A 150 4.0 34.0
22 12 34 N+1 *6 170 0.0 38.0| 9 25 54DN-4 ¢vK -1100 0.0 38.0|33 1 INN+1 v7 120 0.0 38.0
52 a5 53 « E62 54 4 K73
Vast vK Nord vKD9%4 Ost vK4
Alla + D1097652 NS + 87643 ov + KD105
&ED94 &7 #Kn1084
«KD83 4 EKN106 4 DKn74 #1098 2 Kn952 4 D64
vKn7 v 108542 v 86 v 1052 v ED5 v Kn1092
¢+ E84 ¢ KKn + Kn5 + E109 ¢E976 2
#KKn73 #82 #EK1054 #DKn93 *62 #EKD73
49742 « K53 «E108
v ED963 v EKn73 v 8763
+3 ¢+ KD2 ¢ Kn843
#1065 #3862 #95
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 31 44DV-3 45 800 370 10(29 7 4v S+1 &K 650 370 10(34 2 4v0O-4 v2 400 38.0 0.0
17 19 3vyDO-3 +¢3 800 370 10(33 3 4v S+l v8 650 370 10|11 25 4v O-3 v3 300 330 5.0
33 3 44 V-3 2 300 340 40(20 16 24DV -3 &7 500 340 40|17 19 3NV-3 &J 300 330 5.0
14 22 34 V-2 2 200 27.0 110 8 28 2v N+3 LN 200 240 14027 9 3NO-3 +Q 300 33.0 5.0
30 6 34 V-2 +9 200 27.0 11.0(10 26 3v S+2 A 200 240 140(29 7 3NV-3 ¢+ K 300 330 5.0
32 4 44 V-2 +6 200 27.0 11.0(17 19 2v N+3 *Q 200 240 14.0(10 26 3NV-2 &J 200 25.0 13.0
35 1 4e V-2 +9 200 27.0 11.0(23 13 3v S+2 A 200 240 14021 15 2NV-2 ¢+ K 200 25.0 13.0
37 38 34 V-2 2 200 27.0 11.0(27 9 2v N+3 *Q 200 240 140(35 1 3NV-2 ¢+ K 200 25.0 13.0
40 18 34 V-2 +9 200 27.0 11.0(30 6 2v S+3 LY 200 240 14.0(40 18 2NV-2 ¢+ K 200 25.0 13.0
29 7 2¢ N+2 »8 130 20.0 18.0(32 4 2v S+3 A 200 240 140(30 6 44 V-1 ¢+ K 100 19.0 19.0
8 28 24 V-1 +6 100 150 23.0(35 1 2v N+3 v3 200 240 140|132 4 INO-1 +4 100 19.0 19.0
10 26 34 V-1 +6 100 15.0 23.0(37 38 2v N+3 48 200 240 14033 3 INV= LN -90 15.0 23.0
20 16 34 O-1 +9 100 150 23.0(14 22 3v S+l &A 170 11.0 27.0(39 36 INV= +5 -90 15.0 23.0
39 36 34 V-1 a5 100 15,0 23.0(21 15 3v S+l A 170 11.0 270 5 31 INV+1 a7 -120 11.0 27.0
12 24 24 V= +9 -110 10.0 28.0(34 2 2v S+2 v2 170 11.0 27.0| 8 28 INO+1 v3 -120 11.0 27.0
11 25 3¢DN-1 2 -200 6.0 32.0|39 36 3v S+1 &A 170 11.0 27.0(14 22 34 V= ¢+ K -140 7.0 31.0
23 13 3¢DN-1 #8 -200 6.0 32.0|40 18 3v S= A 140 6.0 32.0|23 13 34 V= ¢+ K -140 7.0 31.0
27 9 4¢ N-2 v2 -200 6.0 32.0|11 25 44V -2 vK 100 40 34.0(12 24 34 V+1 8 -170 4.0 34.0
21 15 4¢DN-2 48 -500 20 36.0| 5 31 34 0-1 ¢+ K 50 1.0 37020 16 3¢DS-2 &6 -300 1.0 37.0
34 2 4vyDS-3 v2 -800 0.0 38.0|12 24 340-1 vA 50 1.0 37.0(37 38 3¢DS-2 &6 -300 1.0 37.0
55 & K2 56 492 57 « K764
Syd v 10943 Vast v Kn5 Nord v 10974
Alla + 964 Ingen + Kn1096 ov + E106
#E964 #ED963 &E10
4 Kn974 41053 « K54  #Knl063 # 853 « EKn10
vE7 v Kn62 vK872 vE vKD85 v EKn6
¢+ E8 4 KKn752 ¢ 842 ¢ EK53 ¢ DKn98 ¢ K7532
#KKn1052 #87 &#Kn84 &#K1072 84 #K9
« ED86 « ED87 « D92
v KD85 vD109643 v32
+ D103 +D7 *4
D3 &5 #DKn76532
Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
35 3 24DV-2 ¥T 500 380 00[22 16 2¢vDS+1 45 570 380 00(15 23 5¢ O-1 A 100 38.0 0.0
1 37 INDS+1 &T 380 36.0 20(13 25 3vyDS= v2 530 36.0 20|31 7 24S= vK 90 350 3.0
24 14 INS +4 *J 210 340 4.0(15 23 44DO-3 &5 500 340 40|38 39 24S= a5 90 350 3.0
6 32 INS+2 »2 150 290 9.0(34 4 3¢DO-2 92 300 320 60|35 3 3¢V= v4 -110 32.0 6.0
31 7 INS+2 LN 150 290 9.0(31 7 2NV-3 v] 150 30,0 80| 9 29 3¢ O+1 #Q -130 26.0 12.0
34 4 INS+2 v2 150 290 9.0(35 3 2vN= ¢+ K 110 27.0 11.0(21 17 3¢ O+1 #Q -130 26.0 12.0
38 39 INS+2 a4 150 290 9036 2 2vS= a4 110 27.0 11.0|34 4 3¢ O+1 v2 -130 26.0 12.0
13 25 3v S= a7 140 23.0 15.0(18 20 3NV-2 vJ] 100 220 16.0|36 2 3¢ O+1 #Q -130 26.0 12.0
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2v N +1
INS +1
INS +1
INS +1
INS +1
INS +1
INS +1
INS=
INS=
2y N-1
3v S-1
INS-2

15.0
23.0
23.0
23.0
23.0
23.0
23.0
31.0
31.0
35.0
35.0
38.0

33 5 3#DO-1 ¥9
40 19 2NV -2 &3

137 3¢ 0-1 &5
21 17 3NO-1 v9

929 3y N-1  +A
6 32 INV=  vJ
12 26 INO=  v9
38 39 24 O= a5
28 10 2NV=  vJ
24 14 34 O= a2
30 8 2NV+l  vJ

11 27 3vyDN-2 vA

100
100
50
50
-50
-90

-110
-120
-140
-150
-300

16.0
16.0
21.0
21.0
24.0
27.0
27.0
30.0
32.0
34.0
36.0
38.0

44 O =
2N O +2
3N O +1
3NO +1
3NO +1
3N O +1
3NO +1
3NO +1
3N O +1
3NO +1
3NO +1
3N O +1

v3
*Q

*2
&5
*6
&5
*Q

»2
&6

*Q

-130
-180
-630
-630
-630
-630
-630
-630
-630
-630
-630
-630

NN

VOOOOVOOOOOOD
oOoooooooo0o0OO

12.0
18.0
29.0
29.0
29.0
29.0
29.0
29.0
29.0
29.0
29.0
29.0

BK S:t Erik, Plattliret 2014-02-22, sida 9 av 9




